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(x+2)(x+b) =x*>+cx+6,
X2+ (2+b)x+2b=x%>+cx+6,
24+b=c,2b=06
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A (x-2)(ax - 3) = 4x* + bx + c 7t 54O HE=E Fa, b,
o g2 Fohm?

@D a=4,b=5,c=6 @ a=2,b=-10,c=5
@a=4,b:—11,c:6 @ a=2,b=-10,c=6

®a=2,b=-9,¢c=5
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(2a + 3)x + 6= 4x*> + bx + ¢

H| 2ot H g =4, -2a-3=0b,6=c

EHa=4,b=-11,c=6
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524 ax? - (2a+c)x—1 = (b-2)x2+ (b+3)x—c 7} x| T3t &
2 45 ab,cE AT W, + b2 + 2 9] 22

D 4 @5 ® 6 @ 7 ® 8

B

(E)=(a-b+2)x>-(2a+c+b+3)x-1+c=0
o] o] xof B F5Alolme
a-b+2=0,2a+c+b+3=0,c=1
>a=-2,b=0,c=1

A+ b+ =5
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ax® = (2a+c)x =1 = (b—2)x* — c 7} x 2] ghol TAglo] P4

, a+b+c 9] = F5HH?
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7. 2012 =k2F & o, 2013 x 20112 k2 VFERHH?

@ k% +k @k2—1 @ K+k+1
@ K-k+1 ® k2 -k

2013 x 2011 = (k + 1)(k — 1)
—Kk2-1




SA (1-2)x+ (2+i)y=4-3i & H=Z3=

D1 @ 2 3®)3

B

(1-2i)x+ (2+i)y=4+3i=0 A
(x+2y-4)+ (-2x+y+3)i=0
a7t AR g2 279 o5t
x+2y-4=0,-2x+y+3=0
9ol F A& Aot 9
x=2,y=1

L x+y=3
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10. x=1-+3i ¥, x®2-2x+1 9 gt&?

x=1- V3i oA
x—1=—+3i o] FHE A|F34A
(x—1)% = (- V3i)?
x2-2x=-40]B=2
2-2x+1=-4+1=-3
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